BT TRIA O - HEHHEE X T ﬂﬁﬁkifﬁosﬁ KIRHE
+H- I:I - 3 I:I
BT T2 | MR T8 T = BT T2 | MR8 T =%
HRX 37,821 87,173 41,703 45,470
RIRET1T 5 13 7 6
RIRET2T 25 54 26 28
RIRET3T 138 452 228 224
RIRET4T 389 1,001 485 516
B 557 1,520 746 774
REH 2,628 6,251 2,927 3,324
L&A 4,205 9,668 4,600 5,068
5E 2,476 6,007 2,907 3,100
B AN 1,231 2,855 1,351 1,504
BERT 1,124 1,806 855 951
BER2T 746 1,459 687 772
BHERST 393 915 462 453
g 2,263 4,180 2,004 2,176
BARE 255 663 334 329
= 2,182 5,264 2,480 2,784
hERE 596 1,431 655 776
e 2,335 5213 2,518 2,695
25 L ET 2,253 5,287 2,525 2,762
B &AL BT 69 153 61 92
HEFILET1T 589 1,308 616 692
HEFILET2T 595 1,366 652 714
HEZFILAT3T 570 1,363 664 699
g 1,823 4,190 1,993 2,197
B & it B Fr ET 667 1,640 805 835
BHEREBET1T 594 1,245 594 651
BHERERET2T 753 1,783 864 919
BHERERETST 773 1,693 775 918
HEFMHET4T 456 1,016 497 519
HEHFMHETST 793 1,673 802 871
HEHFHET6T 856 2,021 973 1,048
HEFRET7T 846 1,988 962 1,026
HERERETST 56 167 77 90
£t| 5127 11586 5,544 6,042
HEF R FET 1,785 3,918 1,910 2,008
S|EFET1T 563 1,521 759 762
S|EFET2T 758 1,838 880 958
S|EFET3 T 731 1,490 711 779
g 2,052 4,849 2,350 2,499
ERE1T 553 1,347 652 695
EIRET2T 340 856 422 434
EREIST 467 1,342 652 690
EIRETAT 672 1,561 734 827
EIZEIST 471 969 485 484
g 2,503 6,075 2,945 3,130
MEH 2,776 6,356 3,007 3,349
J\THET1T 26 29 9 20
J\THET2T 24 62 31 31
J\THEI3T 57 129 62 67
B 107 220 102 118
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